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5.2 Multiplying and Dividing Radical Expressions

Warm Up:
Multiply. (ﬁ_\
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When multiplying radicals: -\ (Ox. j
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x Only radicals with the same index can be multiplied together.
Example 1:  Multiply and simplify: =
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Similarly to multiplying radicals, when dividing radicals we divide the coefficients by
coefficients and radicands by radicands, then simplify.

Example 1:  Simplify:
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If the denominator of s irrational, it must be changed. This is called rationalizing
the denominator and is done in two ways.

(Your numbers will be smaller if you simplify your Radicals first)

For a monomial denominator, multiply the numerator and denominator by the radical
term from the denominator.
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